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YEAR 13  

MATHEMATICS  

WORKSHEET 4 

 

STRAND 1     COMPLEX NUMBERS   

 1. For the complex number 𝑍 = 3 𝐶𝐼𝑆 3𝜋2  

 (a) Find: (i) Arg(z)         
 

                    ii)  |𝑧|, the modulus of of 𝑧       

  

 

 

2.    For the complex number 𝑊 =  −√2 − 1 

 

                         i)      Write 𝑊 in polar form.       
 

               ii)      Use De Moivre’s Theorem to find 𝑊3 and express the answer in rectangular               

from.                               

3. State whether each statement given below is true or false. 

 

          a)   𝑖3 +  𝑖5 =  0                                           

 

        b)  3 𝑐𝑖𝑠 200  × 2 𝑐𝑖𝑠 100 = 6 𝑐𝑖𝑠 2000        

 

 

        c)  If 𝐴𝑟𝑔(𝑧) =  900 then 𝐴𝑟𝑔(𝑧 ̅) =  1800                                                             

     

         d)  √−1 = 𝑖                                  
 

 

4. 
 

5.   

 

 

 

 

 

 

 

 

6.  
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STRAND 2     VECTORS     

 

1.   

 

 

 

 

 

 

 

 

 

 

 

 

 

iii) 

 

  

 

 

 

2.  

 

 

 

 

 

 

3. The vector form of  the equation of a line is given as  
 

 

 

 

 

 

 

 

 

 

4. 

 

 

 

  

 

 



Sangam Education Board – Online Resources 

 

 

 


